
AB

C

D

E

I

K

M

N

Carrier
Fitting

L

J

H

Threaded Coupling:
6" = 837-06  |  12" = 837-12

F
G

837 Series Water Closet Carrier
Component Guide

FACE 
PLATE 
ASSY

ITEM NO. FIG. QTY. DESCRIPTION

83
7-

FP
A

Fa
ce

 P
la

te
 A

ss
em

bl
y

837-RH
Rough-in

Hardware Kit

A 1 O-ring

B 4 1/2-13 x 1-1/2" Bolt

C 4 5/8" Hex Nut

D 1 Faceplate Gasket

837-FH
Finish

Hardware Kit

E 4 5/8-11 Cap Nut

F 3 5/8" Hex Nut

G 3 5/8" Metal Flat Washer

H 1 Bowl-Saver Nut

I 4 5/8" Plastic Flat Washer

J 1 Fixture Gasket

837-RA
Rear Anchor Kit K 1 Rear Anchor Support 

& Hardware

837-TR
Thread Rod Kit L 1 5/8-11 X 9" Threaded Rod

(4pcs, bagged)

M 1 Face Plate

837-LEG N 2 Support Leg

All item numbers in BOLD are available for sale


